
INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold 
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech 
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Make:

Model:

Application:

1/2” Socket or Wrench
3/16“ Hex Key
3/8” Drill Bit

Bumper removal tools

Rev. 5/16

QTY QTY
1

FORD

2013-2014 Focus ST

Light Plate

Align light plate to grill as shown above. Take note of 
lhole locations with respect to grill hexes.

Mark center of hexes for drilling.

Detach hood release cable and remove front bumper.

Drill through grill with 3/8” Drill Bit.

Light Plate Assembly
4 5/16” - 18 x 1.25” Buttonhead Screw

4 5/16” USS Flat Washer
4 5/16” Lock Washer
4 1/2” Flat Washer

 
4 5/16” - 18 Hex Nut

3 4

21



DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold 
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech 
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Rev. 5/16

5 6

7 8

Insert 5/16” Buttonhead Screws through tabs and 
grill.

Reinstall front bumper cover.
Recommend mount and wiring lights prior to 
re-installation.

Fasten with 1/2” Flat Washer, 5/16“ Flat Washer,  
5/16” Lock Washer, and 5/16” Hex Nut on each bolt. 
Tighten all hardware.

*2015+ Focus ST Shown


